LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: T262

No ApTUKYN HanmeHoBaHue K-Bo No ApTUKYN HanmeHoBaHue K-80
1 03010110007 BuHT M5X12 1 34 03040010008 LWari6a 4 2
2 70030030695 KpbiWwKa umanHapa 1 35 02070010048 LLlalt6a marHeto 2
3 03020020055 BuHT M4X12 1 36 02050030124 Marreto 1
4 03010010062 Bont M5X20 4 37 03020020054 Bont M4X20 2
5 70070130032 Unnnnap 1 38 02050050213 MpoBoOA BbIKAOYEHMA 3aXKMUTAHUA 1
6 L7T Cseua 1 39 02080020012 3arnywka 1
7 02070010032 MpoKnagka umMamHgpa 1 40 02070010162 MpoKknagka rywutens 1
8 02020020003 Konbuo nopwHesoe 2 41 02050010015 Fnywwutens 1
9 02010020005 MopuweHb 1 42 03040020020 LWarb6a 5 2
10 02020150002 LLaiba nanbua nopLiHa 2 43 03050010015 LWanba 5 2
11 02020010004 Manew nopwHa 1 44 03010010051 bont rnywuntena M5X55 2
12 02020030017 Konbuo ctonopHoe nanbua 2 45 02070010019 MpoKknagka noa TenomM3onAaTop 1
13 03090020018 MoAWnNHMK NanbLa NOPLLHA 1 46 70030020016 Tennousonatop 1
14 02020120090 Konensan 1 47 03020020012 BuHT M5X20 6
15 03090010028 MoAwnnHMK KoneHsana 2 48 02070010071 Mpoknazka nog Kapbtopatop 1
16 03100010009 CanbHWK KoneHsana 1x22x7 2 49 02050020101 KapbtopaTtop 1




LaampPron

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: T262
17 03060010002 LWtmoT B3X10 4 50 70080120007 Onopa Bo3ayLHOro GuabTpa 1
18 70070050038 KapTep, cTopoHa cTapTepa 1 51 03020010012 BuHT M5X16 GB9074.3 2
19 02050100015 MnaTta cobayekK cTapTepa 1 52 02020160564 3awmTa TonIMBHOro b6aka 1
20 02050070009 Craptep B c6ope 1 53 03020020053 BuHT M5X12 1
21 03020020029 BuHT M4X16 5 54 03020020044 BuHT M5X55 2
22 16264157/ LLInoHKa maxoBuka 3x3,5x10 1 55 02090010011 ®PunbTp BO3AYLWHbIN 1
03070010001
23 16261133/ MpoKnagkKa KapTepa 1 56 070030040123 KpbiwKa BO34yLWHOro ¢punbTpa 1
02070010119
24 70070050039 Kaptep, cTopoHa maxoBuKa 1 57 02110030079 BonT KpenneHua KpblwKn GpunbTpa 1
25 03010010058 BuHT M5X25 4 58 02110020026 Mpobka TonaneHoro 6aka 1
26 02050030018 MaxoBsuK 1 5 | - LLnaHr TonAnBHbIN 1
27 03030020003 Malika maxoBuka M8X1 1 60 | - LnaHr nparimepa 1
28 03040050052 LWarba 6X15X1.2 2 61 02050120002 ®unbTp TONAMBHBIN 1
29 02050160002 Cuennenue 1 62 70050030089 baK TonAMBHbIN 1
30 03040050042 LWaiba 6onTa cuenneHun 2 63 03040050022 LWaib6a 5 1
31 02020130001 bonT cuennexHns 2 64 16264109K/ MopweHb KOMNAEKT 1
70080120195

32 80010020078 KpblwWwKa cuennexma 1 65 02060050026 MNopwHeBas rpynna 1
33 70030030164 MnaTa KapTepa 1




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: T262

Ne ApTUKYN HaumeHoBaHMe K-BO Ne ApTURYA HaumeHoBaHMe K-so
1 02020060036 Ban npusofHoit BepxHAs 1 34 02020160213 XomyT 1
nonosuHa 846 mm
2 02010010072 LLITaHra BepxHAA NONOBUHA 1 35 70030180124 PykoaTKka npaBaa nosoBuHa 1
3 02080020006 YnnoTHeHWe BTY/IKK Bana 3 36 70030180033 PykoaTka nesana nonosmHa 1
4 02040010003 BTtynka Bana 8x14x14 3 37 02080020053 KoXXyx pyKOATKKM 1
5 02020160293 MNepexogHuK Bana 1 38 70030180090 XomyT 1
6 70030180089 BonT coeguHUTENBHON MYOTbI 1 39 16261253/ BblKntoyaTeNb 3aXKuUraHma 1
02050050298
7 03060030005 ®ukcatop myoThbl 1 40 70030070047 Bunka 1
8 70070090016 MydTa coeanHUTENBHASA WTaHTU 1 41 02020110039 Mpy*KMHa BUAKKN 1
9 03010010024 bont M6X35 1 42 02020110041 Mpy»MHa CTONOPHOrO pblyara 1
10 03050010012 LWaiiba 6 1 43 70030070434 MpefoxpaHnTeNb KypKa rasa 1
11 03040020015 LWaiiba 6 1 44 02020110040 Mpy*KMHa KypKa rasa 1
12 03020020025 BuHT M5X12 1 45 70030070433 Kypok rasa 1
13 | 02050080003 Ban npnBOAHOM HUKHAR 1 46 02050040045 Tpoc rasa 1
NosoBUHA
14 | 02050080009 Hanpasnatowasn HuxHero rmékoro 1 47 01040030002 0O60onouka Tpoca rasa 1
Basa
15 02010010123 LLitaHra HMXHAA NONOBKUHA 1 48 03010010021 BuHT M5X20 2
16 | 03020030013 BuHT M5X25 2 49 03010010045 BuHT M5X30 1
17 70030030084 KpoHLITeNH KpenneHna Koxyxa 1 50 03030010003 laiika M6 2
18 02020160208 MpocTaBKa KpoOHLITEMHA 1 51 C4001/C4003 PemeHb HanneyHbIM 1
19 02050080006 Ban BbIXO4HOW KOMMNNEKT 1 52 61270020030/ BbapabaH cuenneHnAa KOMNAEeKT 1

61270020001




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: T262
20 70030140047 Kopnyc TpummepHOI ronosku 1 53 03030060008 Maika M5 3
21 02020110038 MpyK1Ha TPUMMEPHOI FONIOBKM 1 54 03010010058 BuHT M5x25 2
22 TpummepHasa necka 4 m 1 55 03020020025 BuHT M5X12 1
23 70030140019 KaTtywkKa ronosku 1 56 80010050049 Ckoba A 1
24 C5091 [alika TPUMMEPHOW FONIOBKM 1 57 80010050068 Ckoba B 1
M8x1,25 npaBas
25 03010010048 BuHT M5X35 4 58 02080020069 Bubpounsonatop wraHrm 1
26 02020160343 Hanpasnsatowan necku 2 59 80010030039 Kopnyc cuennexHnsa 1
27 70030160031 HUXKHAA 4acTb PYKOATKM 1 60 03120010005 LWaba ctonopHasa 15 1
28 | 03020010011 BuHT M5X16 2 61 03090010012 MoawunnHuk(6202-2RS/P5) 2
29 61270070016 Koxyx 3aWmnTHbIN 1 62 03120020004 LLanba ctonopHasa 35 1
30 02020070028 Hox KoxKyxa 1 63 02020050040 BapabaH cuenneHus 1
31 03030060007 lalika M5 2 64 70030160079 PykoaTKa BepxHAA NONOBUHA 1
32 61270040031 PyKoATKa ynpaBaeHUsa KOMNJIEKT 1 65 16233248/ PyKosiTKa KOMNNEKT 1
61270090004
33 03010010008 BuHT M5X14 1




